USDA - RUS			Title of Information Document							ОМВ No. 0572-0023			
SUMMAR	Y OF INFORMATION COLLEC		7 CFR 1 Disburs			ce and ds - Tel	ecomm		Date Prepa D NS	ared 2022			
INSTRUCTIONS:					>	(f) TOTAL		(h) TOTAL		(k) TOTAL			
Jse this form wh	en a single information collection document inve	olves multiple repor	ting and		>		= (e) Averag		= (g) Averag	g	= (j) Averag		
recordkeeping r	•		1	1	>	(d) TOTAL		(f) TOTAL		(i) TOTAL			
IDENTIFICATION OF REPORTING AND RECORDKEEPING REQUIREMENTS					ANNUAL BURDEN								
			FORM			REPORTS				RECORDS			
			NO(s)	NO. OF	NO. OF	TOTAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL		
SECTION OF			(If "none"	RESPON-	RESPONSES	ANNUAL	PER	HOURS	RECORD-	HOURS PER	RECORD-		
REGULATIONS	DESCRIPTION		so state)	DENTS	PER	RESPONSES	RESPONSE	(Col. f & g)	KEEPERS	RECORD-	KEEPING		
					RESPON-	(Col. d & e)				KEEPER	HOURS		
(a)	(b)		(c)	(d)	DENT	(f)	(~)	(h)	(i)	(i)	(Col. i & j) (k)		
(<i>d</i>)			()	(0)	(e)	(1)	(g)	(11)	(1)		(K)		
1744.64	Budget Adjustment	Teleco	None	22	1.4	30.00	1.00	30.00					
1, 11101		Broadband		1	1.0	1.00	1.00						
1744.66	Description of Advances Desired	Telec	None	32	4.3	139.00	0.25	34.75					
		Broadband		6	6.8	41.00	0.25	10.25					
1744.66	Other Information Required	Tele	None	32	4.3	139.00	1.00						
		Broadband		6	6.8	41.00	1.00	41.00					
1744.66	Financial Requirement Statement		RUS 481	32	4.3	139.00	2.00						
		Broadband		6	6.8	41.00	2.00	82.00					
				38	15.0	571	1.08	616.00					
RUS Form 3					15.0	571	1.00	010.00		Page 1	of 1		

RUS Form 36 (07-91)

Page _1_ of _1_

Item	Hours Per Response	Х	Number of Responses	х		or Cost r Hour	=		
Budget Adjustment Request:									
Collecting Data -	0.30	Х	11	Х	\$	45.63	=		
Preparation -	0.40	Х	11	Х	\$	45.63	=		
Typing -	0.20	Х	11	Х	\$	23.61	=		
Review -	0.10	Х	11	Х	\$	77.66	=		
Form 481:									
Collecting Data -	0.50	Х	180	Х	\$	45.63	=		
Preparation -	0.75	Х	180	Х	\$	45.63	=		
Typing -	0.50	Х	180	Х	\$	23.61	=		
Review -	0.25	Х	180	Х	\$	77.66	=		
Description of Advances:									
Preparation -	0.10	Х	180	Х	\$	45.63	=		
Typing -	0.15	Х	180	Х	\$	23.61	=		
Other information as requested									
Collecting Data -	0.50	х	42	х	\$	45.63	=		
Preparation -	0.25	Х	42	Х	\$	45.63	=		
Typing -	0.15	х	42	Х	\$	23.61	=		
Review -	0.10	Х	42	Х	\$	77.66	=		
With Benefit loading		-							
Mailing									
Total Estimated Costs to the Respondents									

Total Estimated Costs to the Respondents

Financial Specialists, All Other (13-2099) = \$45.63

Office and Administrative Support Workers, All Other (43-9799) = \$23.61

Managers, All Other (11-9199) = \$77.66

Line Item Total Cost
\$150.58 \$200.77 \$51.94 \$85.43
\$4,106.70 \$6,160.05 \$2,124.90 \$3,494.70
\$821.34 \$637.47
\$958.23 \$479.12 \$148.74 \$326.17 \$28,048.49 \$1,300.00
\$29,348.49

Item	Hours Per Response	Х	Number of Responses	Х	Labor Cost Per Hour	=	Line Item Total Cost
Budget Adjustment							
Request:							
Review	0.30	Х	10	Х	\$ 79.04	=	\$237.12
Clerical	0.10	Х	10	Х	\$ 33.72	=	\$33.72
Form 481 and							
Description of							
Advances:							
Review	0.90	Х	180	Х	\$ 79.04	=	\$12,804.48
Clerical	0.10	Х	180	Х	\$ 33.72	=	\$606.96
Other information as							
requested:							
Review	0.75	Х	42	Х	\$ 79.04	=	\$2,489.76
Clerical	0.10	Х	42	Х	\$ 33.72	=	\$141.62
with Benefit Loading							\$22,227.37
Printing		\$750.00					
Mailing		\$400.00					
Total Estimated Costs	\$23,377.37						

Senior Office Engineer (GS 13, step 5) = \$79.04

Clerk (GS 6, step 5) = \$33.72